OLSEN — ADVANCED ALGEBRA UNIT 1 ACTIVITY 4 HOMEWORK

Name Period

LESSON 4-1 HW: page 53, “LESSON 4-1 PRACTICE” problems 14 — 16 and page 59, “ ACTIVITY 4
PRACTICE” problems 5-17.
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LESSON 4-2 HW: page 59-60, “ACTIVITY 4 PRACTICE” problems 18 — 28 and 30-40.
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| x — 7| < —2 has no solutions
because an absolute value can never
be less than a negative number, so
no value of x will make this
inequality true. | x | = 0 has one
solution (x = 0) because 0 is the
only number with absolute value 0.
| x+ 1| > —5 has infinitely many
solutions because all absolute values
are nonnegative, so they are always
greater than a negative number. All
values of x will make this inequality
true.

30. x< —lorx>5

B o e s e e o g
-2-1 012 3 45 6

1. 3<x<7

— ———
0123 45678

32. x< —borx>—1

ety ————— =t}
8-7-6-5-4-3-2-1 0
33. 47<x<3
1
B 3
+—t e ———>

-8-6-4-2 0 2 4 6 8
34, —18<x<3

-1.8 3
D e Pt

4-3-2-1 01 2 3 &

35. x< -3orx>5
-3

I I T |
T L |

} —
-8-6-4-2 0 2 &4

36. no solution

37. -10<x<0
D s s e
-12-10-8 -6 -4 -2

-5 3
ot t———
-8-6-4-2 0 2 4 6 8

39, x<—6§orx_>_7

s
63 7
B . S e e e

-B8-6-4-2 0 2 4 6 8
60.1{%0:::?2%

1 1
3 23
e | @t

-4-3-2-1 01 2 3 4



